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 On a scale of 1-5 how far do you agree 

that this source supports this inference? 

Which extract(s) from the source support 

your argument?  

The Soviet Union was becoming more 

important to America in winning the war 

  

Churchill wanted to show that he knew 

Stalin well and could influence him  

  

Churchill is worried that the relationship 

between Britain and America might become 

less important in the future 

  

There was a special relationship between 

Britain and America during WW2 

  

 


